-10

-20

Objective

-30

—40

Incumbent solution
1.5 T T T T T

® FEarth departure @ Intercept

Search tree for 5,000 iterations

=)
<
>
—-1.5 I I | | |
-1.0 -0.5 0.0 0.5 1.0
X (AU)
Incumbent solution
1.6 T ! ! I ! T I
Intercept A Impulsive maneuver
=)
<
C
=}
wn
=
()
9]
C
@©
o
a)
QB[+t
0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000 0 500 1000 1500 2000 2500 3000 3500
Iteration Time (days since departure)
—— Incumbent solution = —— Best partial solution = = Best complete solution
_________ | | | | | |
n:
u:
n:
|

. . | |
o il | | | e e e e eewalew..y
: : ‘H
i i i i
0 600 1200 1800 2400

Iteration



